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Part B: Cloze Test

1|i-'|-..'.‘-'lr__,|-:_,d . —

ASIAY Y- 3 —edS0 L

S— e I . 2 == e v = a

Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

She's not very ---------- in the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1) dominant 2) restrictive 3 ) consistent 4) proportional

She has the --——--—-- of being one of the few people to have received an honorary degree from
the university this year.

1) extraction 2) detection 3) distinction 4) simulation

Financial ---------- on the company are preventing them from employing new staff.

1) resolutions 2) deductions 3) approaches 4) constraints

The pattern -------— from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.

1) occurring 2) assuming 3) identifying 4) emerging

The changes to the national health system will be —-cmm- next year; people won't have to
worry about long waiting lists for hospitals anymore.

1) converted 2) intervened 3) accompanied 4) implemented

The course is essentially theoretical in--———-- , but you'll need some practical work experience
before you can apply for the job.

1) process 2) function 3) orientation 4) exploitation

The report suggests that there has only been a(n) ---——-— improvement in women's pay over
the past few years.

1) ultimate 2) eventual 3) marginal 4) enormous

She gave me this jumper, which she had -— herself.

1) knitted 2) knitted 1t 3) been knitted 4) been knitted it

The teacher suggested that Alj -——-—-- the lesson at least twice before taking the test.

1) reviews 2) review 3) reviewed 4) reviewing

He was in such bad shape and asked for my help. It was impossible to ——-—-—-- .

1) refuse 2) refusing 3) refused 4) be refused

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Hurricane Floyd, one of the most powerful storms ever (11) --===nn--- in the Atlantic, has pounded
the Central Bahamas and set 1ts sights (12) ---------- Flonda. The storm brought heavv rains and
strong winds of up to 200 kph., (13) ----=----- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) ---------- destruction and the states of Florida and Georgia
have ordered more than two million peopie (15) ---------- the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1) to 2) on 3) in 4} from

1) as 2) that 3) whose 4) which

1) mass 2) a mass 3) the mass 4} that mass

1) evacuated 2) to evacuate 3) for evacuation 4) evacuating
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Part C. Reading Comprehension

Directions: Read the following passages and choosc the hest choice (1), (2), (3), or (4). Then
mark it on your answer sheet.

PASSAGE 1:

The term glass ceiling most commonly refers to the condition in which top-level
management in businesses is dominated by men. A "ceiling” is suggested because
women are seen as limited in how far they can advance up organizational ranks; the
ceiling is "glass" (transparent) because the limitation is not immediately apparent. The
"glass ceiling" is distinguished from formal barriers to advancement, such as education
or experience requirements. The term is most often used to refer to women's access to
upper management. However, the glass ceiling also refers to the general tendency for
women to be underrepresented at higher levels of the occupational hierarchy. Empincal
evidence for this pattern in the U.S. is pervasive. The extension to other groups, such as
racial or ethnic minorities, is usually made with direct or indirect reference to gender.
The term glass elevator is sometimes used to describe the rapid promotion of men over
women, especially into management, in female-dominated fields like nursing. The term
glass cliff describes a situation wherein someone, particularly a woman, has been
promoted into a riskyv, difficult job where the chances of failure are higher. There is alsc
a sometimes-used term glass floor which describes the theory that some factor both
limits a group's (often women's) progress but also limits their numbers in situations like,
say, imprisonment and the disproportionate numbers of male inmates. Biological factors
are often quoted for these, although contentious. The phrase glass floor is also
sometimes used to describe the fact that men almost always occupy the least pleasant
jobs in a society - sewage workers, miners, street cleaners, refuse workers etc. However,
it bears mention that the least pleasant and lowest paid jobs predominantly occupied by
men are often have higher salaries and require less education than the lowest paid jobs
predominantly occupied by women.
16- Which of the following about 'glass ceiling' is TRUE according to the passage?
1) It concerns nearly all levels of management.
2) It deals with women's role in organizational ranks.
3) It refers 1o a limitation which is apparently not there.
4) It indicates how advanced women can be in management.
17- Itis stated in the passage that 'glass ceiling' ---------- :
1) is yet another formal barrier for women's advancement
2) attempts to facilitate women's reach to upper management.
3) is quite common as for as women in the United States are concerned
4) shows women's ability at higher levels of the occupational hierarchy
18- The passage mentions that -—-—----- ;
1) traditional women's jobs, like nursing, are dominated by men today
2) the terms 'glass floor' and ‘glass ceiling' are sometimes interchangeable.
3) 'glass ceiling' 1s more about racial and ethnic minorities than about women
4) gender apparently works in women's favour in such negative situations as imprisoment
19- Which of the following about 'glass floor' is TRUE according to the passage?”
1) Men receive very high salaries for the lowest paid jobs.
2) It concerns such 'low’ jobs as those of sewage workers’.
3) The lowest paid jobs for women need more education than those tor men
4) Women are often not willing to do such works as mining and street cleaning.
20- The word 'contentious' in line 18 is most closely related to the word ------—.
1) 'argument’ - 2) 'consistent’ _ 3) 'dominant’ 4) 'employment
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PASSAGE 2:

Parental leave is the right to take time off work, paid or unpaid, to care for a child or
make arrangements for the child's welfare. Often, the term parental leave includes
maternity, paternity. and adoption leave. In most western countries parental leave is
available for those who have worked for their current employer for a certain period of
time. In the UK, for instance, working mothers are given the right to 26 weeks of paid
leave for each child, 6 weeks at 90% of full pay and 20 weeks at a fixed amount. An
example of generous parental leave is Sweden, where all working parents are entitled to
|8 months' paid leave per child, the cost being shared between employver and State; 10
enccurage greater paternal involvement in child-rearing, a minimum of 3 months out of
the 18 is required to be used by the "minority" parent. in practice usually the father, and
some Swedish political parties on the Left argue for legislation to oblige families to
divide the 18 months equally between both parents. Norway also has similarly generous
leave. The system in Bulgaria is even more generous, providing mothers with 435 days
100% paid sick leave prior the due date, 2 years paid leave, and 1 additional year of
unpaid leave. The employeer is obliged to restore the mother to the same position upon
return to work. In addition, pregnant women and single mothers cannot be fired. There
is currently a push to expand paid maternity leave in countries such as Australia and the
United States. In 2000, parental leave was greatly expanded in Canada from 10 weeks 10
35 weeks divided between the two parents, which can be expanded to a year. In Canada
parental leave is paid for by the Employment Insurance system.

21- Itis stated about 'parental leave' in the passage that ——-—--- :
1) not only mothers and fathers but 'unreal' parents can often take advantage of it.
2) an employer provides it for a parent based on the employment contract
« 3) it is usually paid if only one of the parents takes leave from work
4) the child's welfare is often at risk without proper use of it
22- The passage mentions that ----—-m--- ;
1) the maximum share of child-rearing parental leave in Sweden goes often to the mother
2) parents in the UK can usually decide what share of their leave should go to the father
3) the emplover and the state in Sweden entitle both parents to 18 months paid leave
4) mothers in the UK can be on parental leave for a minimum of 32 weeks
23- Which of the following is TRUE according to the passage?
1) Bulgaria offers a total of about 26 months paid leave to @ mother for childbirth
2) Poegnant women can be fired in Bulgaria only during the period before a child in born <
3) Norway does far better than Sweden as far as the quality of its parental leave is concerned
4) There is one additional year of paid leave in Sweden upon the birth of a mother's second baby
24- 1t is implied in the passage that ----------.
1) the Swedish system of maternity leave is a complicated system
2) materaity leave in the US is less advanced than that in Bulgaria
3) the Employment [nsurance system pays for parental leave in Canada
4) Canada did not offer sharable parental leave to its citizens before 2000
25- The term 'due date' in line 14 refers to the -—---—--—-- :
1) time when a baby is born 2) time a woman becomes pregnant -
;} period of sickness after a baby is born 4) period between pregnancy and childbirth
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Transculturation is a term coined by ¥Fernando Ortiz in 1947 to describe the
pnenomenon of merging and converging culturzs. In simple terms, it reflects the natural
tendency of people (in general) to resolve conflicts over time, rather than exacerbating
them. In the modern context, both conflicts and resolutions are amplified by
communication and transportation technology —the ancient tendency of cultures
drifting or remaining apart has been replaced by stronger forces for bringing societies
together. Where tranculturation impacts ethnicity and ethnic issues the term
"ethnoconvergence" is sometimes used. In one general sense, transculturation covers
war, ethnic conflict, racism, multiculturalism. interracial marriage, and any other of a
number of contexts that deal with more than one culture. In the other general sense,
tranculturation is the positive aspect of global phenomena and human events, where
resolutions to conflicts are inevitable. The general processes of transculturation are
extremely complex -- steered by powerful forces at the macrosocial level, vet ultimately
resolved at the interpersonal level. The driving force for conflict is simple proximity --
ooundaries, once separating people (providing for a measure of isolation) become the
issue of a conflict when societies encroach upon one another territorially. If a means to
co-exist cannot be immediately found, then conflicts can be hostile, leading to a process
oy which contact between individuals leads to some resolution. Often, history shows us,
the processes of co-existence begins with hostilities, and with the natural passing of
polanist individuals, comes the passing of their polarist sentiments, and soon some
resolution is achieved. Degrees of hostile conflict vary from outright genocidal

conquest, to lukewarm infighting between differing poitical views within the same
ethnic community.

Which of the following about 'transculturation' is TRUE according to the passage?
1) It has been a common term in Europe for over a century.
2) It shows people are pushed into conflict to make peace alterwards.
3) It concerns the fact that ancient societies lived apart from each other
4) It holds that modern technology is helpful in bringing societies together
The passage states that transculturation ----------,
) and ethnoconvergence are used in quite different senses
2) is particularly concerned with issues of racism and ethnic conflict
3) processes start at the macrosocial and end up in an interpersonal level
4) does not take a specifically negative attitude towards inevitable processes
It is mentioned in the passage that ---------- :
1) societies today are. as a rule, ternitorially separate
2) nations living close to each other are often in conilict
3) resolution is usually achieved if there is a strong will for it
4) hostilities are in fact an introduction to peaceful living together
We understand from the passage that ----------,
1) differing political views cause infighting
23 co-existence without a resolution is possible
3) the worst type of conflict concerns genocide
4) ethnic communities continually fight with cach other
The word 'eneroach' in line 16 has an element of ——-—--- n it.
1) 'assurance’ 2) 'cooperation’ 3) 'construction’ 4) interference’
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